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n=1400
N=1401
print(n)
print(
n=n+1400
print(n)
print(
n=1400
n=n+1
print(n)
print(
n=1400
N=1401
print(N)
print(
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Harulaa J e 8 y=0.8x + 10

x=float(input(
y=0.8*x+10
print (y)

print(
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a=(input(
b=(input(
m=("admin")
n=(""12345678")
a==m and b==n:

print(

print(
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#J4 clla

a=int(input(

b=int(input(
a==h:
print(
a>b:

print(a)

print(b)
print (
#a 5o Clla
a=int(input(" S 2,505 30 (gl ="))
b=int(input(" S a1, 3 (e sa ="))
print(max(a,b))

print (" *EE gy Fe)
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#Js) Qs
a=int(input(
b=int(input(
c=int(input(
print(max(a,b,c))
print (

Hasa Cilla
x=int(input(
list=[]

I in range(X):
y=int(input('NUM:")
list.append(y)

print(max(list))
print (
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#a<b+c , b<at+c , c<at+b
a=float(input(
b=float(input(
c=float(input(

a<b+c b<a+c c<atb:

print(

print( )

a**2==(b**2)+(c**2) or b**2==(a**2)+(c**2) or c**2==(b**2)+(c**2):
print( )

a== b==c or c==a:

print(

a==b==c:

print(

print(
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turtle

laki=turtle.Turtle()

laki.pensize(3)

Width i
#width() = pensize() idth() s pensize()
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laki.color(‘red")

laki.speed("fast")

#slowest ) it ua Fast

#slow Aol A8 O3l Adig S JAIA e ) S 8 L Ol e 1)
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#fast o p Jba )z

#fastest | mu A Laki.speed(10)

laki.shape(‘turtle")
laki.pencolor('black")
I 11 range(50,300,50):
j in range(4):
laki.forward(i)
laki.left(90)
#forward() == fd()
laki.hideturtle()

 > Jﬁcé&\ﬂ&sb@O‘ﬁw‘Jdﬁmd}hﬁ

#hideturtle() == ht() /
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turtle
laki=turtle.Turtle()
laki.pensize(3)
laki.color('red")
laki.speed(*"fast™)
laki.shape(‘turtle”)
laki.pencolor('black")
I 11 range(50,300,50):
j in range(4):

laki.forward(i)

laki.left(90)
laki.hideturtle()
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turtle
lakil=turtle.Turtle()
laki2=turtle. Turtle()
laki3=turtle. Turtle()
lakid=turtle. Turtle()
laki5=turtle. Turtle()
laki6=turtle. Turtle()
laki7=turtle.Turtle()
laki8=turtle. Turtle()
laki9=turtle. Turtle()
lakilO=turtle.Turtle()

lakil.pensize(3)
laki2.pensize(3)
laki3.pensize(3)
laki4.pensize(3)
laki5.pensize(3)
laki6.pensize(3)
laki7.pensize(3)
laki8.pensize(3)

laki9.pensize(3)
laki10.pensize(5)




lakil.color(
laki2.color(
laki3.color(

laki4.color(

lakil.penup()
lakil.goto(-230,0)
lakil.pendown()

lakil.left(90)
lakil.forward(100)

laki2.penup()
laki2.goto(-230,0)
laki2.pendown()

laki2.left(180)
laki2.forward(50)
laki2.left(-270)
laki2.forward(20)

laki3.penup()
laki3.goto(-100,0)

laki3.pendown()




laki4.penup()
laki4.goto(-100,0)
laki4.pendown()

laki5.penup()
laki5.goto(-100,0)
laki5.pendown()

laki3.left(90)
laki3.forward(100)

laki4.forward(80)

laki5.left(180)
laki5.forward(50)
laki5.left(-270)
laki5.forward(20)

laki6.penup()
laki6.goto(0,100)
laki6.pendown()

laki6.forward(200)
laki6.left(90)
laki6.forward(50)




laki6.left(-90)
laki6.forward(50)

laki7.penup()
laki7.goto(200,100)
laki7.pendown()
laki7.left(-90)
laki7.forward(50)
laki7.left(90)
laki7.forward(50)

laki8.penup()
laki8.goto(185,100)
laki8.pendown()

laki8.left(90)
laki8.forward(80)
laki8.left(-90)
laki8.forward(80)

laki9.penup()
laki9.goto(185,100)
laki9.pendown()

laki9.left(270)




laki9.forward(80)
laki9.left(90)
laki9.forward(80)

laki10.penup()
laki10.goto(-100,-120)
laki10.pendown()
laki10.color( )
laki10.write(

laki10.ht()
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